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Y 2LIH(222 ) 60,540 132,626 AT2,086
Jl=&H 60,540 75,840 A 15,300
Jl=34l 60,540 75,840 15,300
201 et 31,890 39,240 AT,350
01 At 22l 31,890 39,240 A7,350
O BNESA 1,831,000& x15& 27,465
O =gl 2,625
— SZ20iAldl 7,0003 15 »25 2,625
O SLESAP 150,000 10 128 1,800
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2N 252
Ha: HNSYAY (2 2FD)
el |22 (e @

- _ _ NUE &
SN H-SR(EH) - NRAMY - B 0] &k o G I RE2

202 (44l 25,650 32,400 A6,750
01 S LHAbI 25,650 32,400 A6,750

O 20| 80,000& x15& 123 14,400

O 22/l 75,0002 x 15+ 10! 11,250
203 2 =&l 3,000 4,200 A 1,200
04 REA2EHRFEH 3,000 4,200 A 1,200

O RAN2EERFAI 250,000& ~12& 3,000
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